R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4212-15.dwg, TX-4212

& Endura

PR ODUCTS, I

8811 West Market Street
Colfax, N.C. 27235

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & Ré13 and the 2004
International Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404
(including Texas revisions) subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

4. Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

Typical elevations, design pressures & general notes
Astragal details (Ulfimate Fiip Lever)

Astragal details (Ultimate Multi-point)

Astragal details (Ultimate Hunicane)

Door panel details (flush glazing)

Door panel details (lip lite insert glazing)

Horizontal cross sections

Vertical cross secfions

Frame anchoring

-_—

VWl N|ov|n| & |W N

73.94" MAX. FRAME WIDTH

81.94" MAX. O.A. FRAME
HEIGHT (INSWING)
81.125" MAX. O.A

FRAME HEIGHT (OUTSWING)

PGkl

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Valrico FL. 33595
CERTIFICATE OF REGISTRATION # F-—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

ENDURA
PART OR ASSEMBLY:
TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

PRODUCT:

BY

REVISIONS

NOJ DATE

oaTE: 8/09/12

SCALE:  N.T.S.

DWG. BY: JK

XX | LIP LITE INSERT |  INSWING +35.0 -35.0 +45.0 -45.0 +40.0 -40.0
XX | LIP LITE INSERT | OUTSWING +40.0 -40.0 +45.0 -45.0 +40.0 -40.0
XX  |FLUSH GLAZED | INSWING +40.0 -45.0 +55.0 -55.0 +45.0 | -50.0
XX FLUSH GLAZED | OUTSWING +50.0 -50.0 +55.0 -55.0 +45.0 -45.0

CHK. BY: LFS

DRAWING NO.:
TX—-4212

SHEET 1 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



"ONI SANVLINSNOD aNIaTIng ‘MY 2102 Q

ZSBLL—4 # NOLVAISIOSN 40 3LVOILN3D SNOISIAIY -
SHIINIONI TVNOISS340Nd 4O QHYOS SWXAL «mﬂ%ﬁﬁﬂ.ﬂ?.wﬁmqmm\_a A8 31va JONJey| | |l o 9_
LBL6'6G9'CLE FON ouoyd : Sl Mt Dlw
G6SEE 14 OOMIPA OLZ XoE 'O'd SM&. ATESTY WD i 3 W 5 d°
*ONI ‘SLNYLINSNOD ONIQTINg W ar < W_ 2_
. &2
CZIL¥OLF "3'd SWXIL VANaN3 i M g|¢I3 B
“3'd WPIUYSS ‘4 UOPUA]  :Ag peupdeig sjuswnoog :10na0yd & 21358 &
'3 _
% WOLLOY ;
i
* h
& mit
[ ] 2 “I—
fi:] < |*
sl
. n_.M..u. mm m u | ._WN._
~ . s Q y =
8 n 2 M_ o}
O W =
5 @ .D %
& v >
g - } ©
. S & & S|
: s g | ¥ g 5 3
) o <
=] o
b =
<
4 C 4
O
I =
0=z
~ oo N — S9T
K&
(%]
(=4
(@]
=
O
Z
<
i 1

f=—1.75"
[ 7 5"

I =

dOl

(2)#6-32 X 5/8" MACHINE SCREWS

(2)#8 X 1-1/2" PFH WOOD SCREWS

Upper/Lower Bolt Actuator Lever - Zinc
(2)#8 X 1-1/2" PFH WOOD SCREWS

v
= ©
: £
o e
=0 Q
.I_m u
> Z
o= T
** T Q
Sa m H X
| ) —/
w
=
o
e
~0
v
_ —d =
A -

2
Il

Lower Bolt Sleeve - Aluminum
ULTIMATE FLIP LEVER ASTRAGAL

Aluminum Body

fa

NI

Upper Bolt Sleeve - Aluminum

Z-1 ‘BMpST-ZTZb-X1\SBuimeIg 2amy ‘a\SZ9T 4d\00ZT - 1091 [01d\siap|o4 Pafoid\sioafold - v\



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4212-15.dwg, 1-3

Upper Bolt Sleeve - Aluminum

(2)#8 X 1-1/2"
PFH WOOD SCREWS

Upper Latch - Reinf Resin

Latch Actuator
Steel

Lower Latch - Reinf Resin

sy

Aluminum Body

Lower Bolf Sleeve - Aluminum

ULTIMATE MULTI-POINT ASTRAGAL

= 33.75"

520" -—

—= 1.75"
75"

Upper/Lower Bolt Actuator Lever - Zinc

(2)#8 X 1-1/2" PFH WOOD SCREWS

[2)#8 X 1-1/2" PFH WOOD SCREWS

(2)#6-32 X 5/8" MACHINE SCREWS

77.75" -
ANCHOR SCREW LOCATIONS

60.0"

S
E
Lower Latch o
a

26.0"
35.5" LATCH

41.0" DEADBOLT

[f—1.82"

2.65"

1.78"

0.063" —= |=~—
4

L

Astragal Section

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.O. Box 230 Vairico FL. 33595
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
PART OR ASSEMBLY:

PRODUCT:

ASTRAGAL DETAILS
(ULTIMATE MULTI—POINT)

BY

NOJ DATE

REVISIONS

pate: 8,/09/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—-4212

SHEET 3 oF _9

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4212-15.dwg, 1-4

- g 38"
PUNCH OUT \
237755 — —- — —— 2.50"
m‘ ' -~ 10.75" —=| - os 3.63"
e 18.75" — = , S0 ———=
i 26.75" - ] 8.50I -
l~—— 26.50"
ANCHOR SCREW LOCATIONS
=] I Z@E| ] O | ] —
< L 55" ﬂ|= 35.5" -
<€
6'-8" ALUMINUM ASTRAGAL ASSEMBLY
By Endura
BOLT RETAINERS
SLIDE BOLT ROD ’.; 1963 — A, Y
”‘ S
VIEW A-A T
Aluminum Astragal Assembly SLIDE BOLT ROD
MATL: Steel
#8 X 3/4" PFH WS
j . DEADBOLT STRIKE
: 3 PLATE
2 1.63" " b
< * “—"|— #8 X 3" PFHWS 1
oy LATCH STRIKE
J f PLATE
1.75 BOLT RETAINER
LATCH & DEADBOLT DETAIL

ULTIMATE HURRICANE ASTRAGAL

MATL: 9-3/4" Aluminum

BOTIOM

=AMV
S

o)
©
8

=

ot

(*p]

SEE DETAIL

ASTRAGAL

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

TEXAS BOARD OF PROFESSIONAL ENGINEERS

P.0. Box 230 Vairico FL. 33595
CERTIFICATE OF REGISTRATION # F—11852

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

ENDURA

PART OR ASSEMBLY:

PRODUCT:

ASTRAGAL DETAILS
(ULTIMATE HURRICANE)

BY

NOJ DATE

REVISIONS

oate: 8/09/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

TX—4212

SHEET 4 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.




R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4212-15.dwg, 1-5

0.66" —=

\-— ].75" —

INTERIOR

EXTERIOR

STILE CAP (PVC)

/.
4

/"1 \ HORIZONTAL CROSS SECTION

STILE CAP (PVC)
WOOD STILE
REINFORCED WOOD
LOCK BLOCK
(20" HIGH)
\5/
35.75"MAX. _, _
PANEL WIDTH
26.25" MAX
D.L.O. WIDTH B E
5
o)
o [—
o
25 39 1
L T
2T L% 5
pg] w O
EO z ~0
N X o
N

PLASTPRO
Flushglazed
(Fiberglass)

1/2" GLASS
BITE

INTERIOR

\
.

WOOD STILE /

—— 5/8" NOMINAL GLASS THK.

1/8" TEMPERED GLASS

S AIR SPACE
ﬁ\]/ " TEMPERED GLASS
SILICONE GLAZING
EEROR COMPOUND
©1)-GLAZING DETAIL
Flush Glazing

FIBERGLASS SKIN
(0.075" MIN. THK.)\

TOP RAIL

(PVC) \

-

/4
I

—i

INTERIOR

FOAM CORE
(POLYURETHANE ] ™

/i

I/4
#—
BOTTOM RAIL Sl
(PVC) N[ -

——1.75" —=|

/ 2"\ VERTICAL CROSS SECTION

\&/

" ul
% °q
i ¢, fBg
X g us
A ui gm 87
h:ﬂ. —-da 'S
c ] 5 J%=
85 £33 iz
> FEE8 GE
a J5@ @
A>H @é
ZOE 05
Qn O
o ONY aw
° 05z w
& 5% 96
o 9. a4
¢ 222 ep
O m oo 06
m
: D
c gE
[ 7]
E Q% S
3 =
(=]
[=]
3
<
E=
s -3
> 5 oo
S o 2
) o 8
w
EXTERIOR 9 S
E— e o
= x| o
§ o
S g
o o
pon
o
%)
v
=)
(2}
o
%
; -
<
o
o
=
DATE: 8/09/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4212

SHEET 5 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4212-15.dwg, 1-6

(COMP))
0_4"—-— [ 0.4I|_,__ ——
INTERIOR g e LT
—r 1 Ty & o LIT 1 * f"
IS AR S ] £ i %
oo W T F S S e B B TF Lo —
fall INGi ® 72 e 2 g0 e EE S A ; g o
EXTERIOR / \ R A
CAP (PVC LT
{PYC LATCH STILE (LVL) REAREIAS
HINGE STILE (LVL) CAP [PVC) Y
S e
(1" HORIZONTAL CROSS SECTION | R
& o~
(
35.75" MAX. @/
PANEL WIDTH
INTERIOR N\ ——
21.0" MAX " =
D.LO. WIDTH
#6 X 1-1/2" PH SMS
[
GLASS BITE 1/2"
INTERIOR
- ———1/2" NOMINAL GLASS THK.
|!| ) /8 TEMPERED GLASS = D
1 % — AR SPACE TR
o : = FOAM CORE R
Qe = 1/8" TEMPERED GLASS POLYURErHANE\. ave, oA
86 %0 ] ( ) T
. i o a vz
2= o= 7 6 STEEL SPACER T
z2 g9 oA
E = EXTERIOR Q'SO SEALANT bif e T
N LOW TACK SEALANT FIBERGLASS SKIN . b
(0.075"MIN.THK.)\ SRR ”
GLAZING DETAIL A B —
Lip Lite Insert Glazing o A Y g
'.4 ! 2 * A
AR
b BOHOMRAR’//GHTJ ?ﬁi
(COMP.) L L] b ‘
PLASTPRO
Insert glazed
(fiberglass) /" 2\ VERTICAL CROSS SECTION

"8/

Li
ag
£33 )
=S 0 W@
£ b 2o
A OB BY
.—'cn
» L2 w
°§ gﬂq ;z
'g [T+ ] o0
St O BE8 GE
3 Jp5© 0
A>H @E
@ =
% gR® 92
o O N - o
] o
o (4] EZ i
g émg Ol
§ 592 gp_i
o Mmoo &
m=
;=
: 9
E 3]
3 =
]
[a]
9
2__
=3
W)
s >
T
S | @
[t 7 =0
=z = <=
L ol &
7
g S5
s o
3 gl Sa
2 o2
2 =
o a
>_
i)
7}
=
O
2}
o
el
<
o
o
Z
DAaTE: 8/09/12
scAE: N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—=4212

SHEET 6 oF 9

© 2012 R.W. BUILDING CONSULTANTS INC.



ui
g
83 2
69 £X # 8%
wu UM o
o L Z ~ E L
[ . d o
53 L.a 3.
>/ / g Zig 28
/ / ) 409 a
Va a 5 7 [
7 / om”m oy
/ / & on- ED
o o3 2 wE
[ E m e o%
& 3g§ 2w
(T Poade ke
Il x S
A e N 38
R ]
uj @‘ \ a
T~ DEADBOLT: KWIKSET SIGNATURE SERIES
/ / (980/985)
/ // y // - LATCH: KWIKSET SIGNATURE SERIES “
= =90
S > S&
S 2 Em
- CORNER PADS (TYP.) & g Jozté
. o
ol ) £ g
le— C'SINK = =
EXT. SHEATHING (P} \8/ \8/ g %
P
om
2X FRAMING e |~ #10X2.5" PFH WOOD SCREW
(G>=042) \ ULTIMATE FLIP LEVER ASTRAGAL
ULTIMATE MULTI-POINT ASTRAGAL
| — Jams 2
ENDURA WEATHERSTRIP ULTIMATE HURRICANE ASTRAGAL &
IERLrRE 020 ENDURA WEATHERSTRIP %
INTERIOR (QEBD/PE 650) DOOR PANEL Gl
N \E
_/ EXTERIOR =
DRYWALL eente B <
#8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS #8X 3"PFH WS o
1 " z
scAE:  N.T.S.
m DWG. BY: JK
/ 1"\ HORIZONTAL CROSS SECTION ; HORIZONTAL CROSS SECTION ooy LFS
W Inswing shown - Qutswing also approved \_/ nmwu;_c;( NO‘.;2 =
SHEET _7 oF _9

R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4212-15.dwg, 1-7

© 2012 R.W. BUILDING CONSULTANTS INC.



2X FRAMING
(G >=0.42)

—_—

EXT. SHEATHING \
y

o / DRYWALL

——— w—— — —

1/4" MAX.

SHIMSPACE ™~

J— #10 X 2.5" PFH
-] WoOD SCREW

DOOR PANEL \

EXTERIOR W

0.15"
C'SINK
(TYP.)

ui

M HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650)

INTERIOR

/ 1"\ VERTICAL CROSS SECTION

DOOR PANEL
ENDURA WEATHERSTRIP \\ 1\

alsoa d
(QEBD/PE 650) pprove

ENDURA THRESHOLD
(Z-SERIES OUTSWING )

INTERIOR

EXTERIOR

\\\\\ﬁ

- b

SAN

/" 2"\ VERTICAL CROSS SECTION

w Outswing shown

\ﬂ“;;:;p“‘

g \ i v
S VALY

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4"ELCO OR
ITW CONCRETE SCREW

W Outswing shown - inswing

EXTERIOR

ENDURA DOOR SWEEP

ENDURA THRESHOLD
(Z-SERIES INSWING)

DOOR PANEL —\
(DBK-R)

A..;- WM \lﬂ,}

\1\

Yﬂ% INTERIOR

[T

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

w Inswing configuration

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
VERTICAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

REVISIONS

NOJ DATE

DATE: 8/09/12

SCALE: N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4212

SHEET _8 oF _9

R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4212-15.dwg, 1-8

@ 2012 R.W. BUILDING CONBULTANTES INC.



R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1675\D. RWBC Drawings\TX-4212-15.dwg, 1-9

2X frami

TOP OF
DOOR PANEL

™ 2"

6.44" FROM

—

ng (by others)

¢

-

6'!
(TYP.)

S —

mp) r 6
== ey
1

—~
S

37.625"

é8.81"

I T FK T
DETAIL 1

DETAIL 2

6..
(TYP.)

e

17.5" MAX
0.C. [TYP)

Mo X 2.5" PFH WOOD SCREW
JL: 2" (TYP.)

4" (TYP.)
S UPd —= 1/4" X 2-3/4" ELCO OR
HINGE JAMB ITW CONCRETE SCREW
(TYP @ SILL)
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME ANCHORING
CONCRETE (MIN. 3000 Psl) XX
WOOD (G >=0.42)
*NOTE: This anchor required for D.P. > 50 PSF.

CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the corners may be adjusted fo maintain the min.

edge distance to mortar joints.
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to #8 X 2-1/2" PFH WS

maintain the min. edge distance to mortar joints, additional concrete anchors /

may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. I:. ]
3. (?_oncrefe anchor table: #8 X 1" PFH WS e . i ~~ #8 X 3/4" PFH WS

[ [— 4" X 4" HINGE
\

W . .
TAPCON® | /¥ 1-3/4" 2-1/2 3

Elco n " n "w
uLTRACON®| 174 1-3/4 1 3

HINGE DETAIL 1

Astragal Strike Plate

@ Head Jamb
= I\?\J'\ =
N
#10 X 2.5" PFH WS
DETAIL 1
3/8" DIA. HOLE
|
\o =
DETAIL 2
“ Ul
| #8X2-1/2" PFH WS
e
n ’. : .“
X VPRHWS <o | Tl SF=r= #8 X 3/4" PFH Ws
—1— 4" X 4" HINGE
\
A\
HINGE DETAIL 2

Lynden F. Schmidt, P.E
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

BY

NOJ DATE

REVISIONS

DATE: 8/09/12

SCALE:  N.T.S,

DWG. BY: JK

LFS

CHK. BY:

DRAWING NO.:
TX—4212

SHEET 9 ofF 9

@ 2012 R.W. BUILDING CONSULTANTS INC.



